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1. T8 IE e W Ugel e i S o
Please check the booklet before commencement of the exam.

2. fea w3 from wm ¥ MEm ve dimr § 3w R
Write the answers according to the prescribed word limit, in the space‘given.

3, 3R AT Uds WS & U § & T 2
The marking scheme is given at the start of every section.

4. Ulgr & Uyenq 39T Ul gier aTefiga @b |y 2
Return the answer booklet to the hall superintendent after completing the paper.
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If there is a choice to attempt one question out of many and the candidate attempts more
than one question then only.
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Candidates are directed to write answers only in the prescribed space of booklet. They
should not write answer outside the border line. Answer written outside the border line will
not be checked.
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REVIEW PARAMETERS

SCALE

Good Above Average Below
Average Average

DOES THE ANSWER ADDRESS THE DEMAND OF THE QUESTION?

Answer Relevancy

o

Answer Enrichment points like use of - Key Terms/
Subject Vocabulary

Use of Commission/ report/ government publication/
judgements, etc.

Association with the Current Affairs and use of examples
to explain the concept and idea

HOW WELL IS THE ANSWER PRESENTED?

Structure - Intro, Body, Conclusicn

Presentation — Using Subheadings/ points/ highlighting/
flowcharts/ diagrams/ maps

Language & Grammar

Word limit

Detzﬁled Comments/Feedback / Suggestions for Improvement
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Unit—1 (75 Marks)
gz - 1) (75 3iF)
Part—A Marks : 10
qeT - H 3& : 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each Question carries 2

marks.
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What was the contribution of Sufi thinking in the political field?
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The reign of Vijayanagara Empire was also the period of ‘development of Malayalam’. Clarify-
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{Write above this line anly)
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Mentioning the name of the author of the book *‘Common Sense’, explain its importance.
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(Write above this line only)
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Write a note on ‘Somnath Shivalaya of Rajasthan’.
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(25 Marks)
(25 27)

Part— B
arr - "
Note : Attempt all questions. Answer the following questions in 30 words each. Each Question carries 5 marks.
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“The works of philosophers had a huge impact on the minds of people. Created revolution:

consgiousness in them and formed the intellectual opinion of the Fr ench Revolution.' Explain-
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3. O WOTS TE Tid % I U FANETE 9 TEAEE % IR # Ieeiad it
——— _—
O Mention the contribution of Kabir Das and Guru Nanak in the upliftment of Indian society and culture.
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Explain the ill effects of the "Salt Agreements” made by the British after the treaty with the
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Attempt all questions. Answer the following questions in 100 words each. Each Question carries 10 marks.
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“The French Revolution was the second phase of the American Revolution.”™ Explain the above

1ent.
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Compare the feudalism of R ajasthan with Furupcan feudalism.
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A%_ %( Write a brief description of *Bharat Tax 2024" -

Unit—11 (65 Marks)
(@fe - 11) (65 27aR)
Part—A Marks : 10
W - 3T 3k : 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each Question carries 2
marks.
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3. APAARSE
APAAR Card

7
e

4. WW?‘?QEWHH%WW‘@HW-

Mention the basic difference between Silent Bank Run and Bank Run.

AL o 33 < a@ ‘i Sl éR\

AT e R s el
~ ' K,%

T o Bl I Wi

£

B'g?;——- pmc.%gaq Tﬁkhr‘c;@!% [ o]

S LBy Colll v 2l
50;\%\‘.—1\_11 = : 3 bo‘ﬁlfly] )

5. mmmmmme@mmmwmmm%m
& o TereT & RE-wew faer @ afmfaa fear smar 22

Which districts of Rajasthan are included in the Consumer Price Index data released by Labor

Bureau Shimla for industrial workers? @
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% -7 Note : Attempt all questions. Answer the following questions in 30 words each. Fach Question carries 5 marks.
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™ urT - F (25 37%)
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Write a note on *Particularly Vulnerable Tribal Group (PVTG) Development Mission™.
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Explain th( contr thutmn of IFFCO in fertilizer production in India and explain the importance uf 3
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4. Trowg™ Y- 2030 & 3EvEl o @iy faaror S
Give a brief description of the objectives of Rajasthan Mission- 2030.
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Write the main provisions of Rajasthan Rural Tourism Scheme 2023 peintawise-
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Part— C : (30 Marks)
0T - | (30 A=)

Note @ Attempt all questions. Answer the following questions in 100 words each. Fach Question carries 10 marks.
e : W WA % IO | O Ul o IEY 100-100 Wl ¥ S| U uvE & 10 e Maffa £
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Explaining the meaning of P.P.P- and write a brief comiment on the various models of P.P.P.
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B ol Explaining the ‘One Health Concept’. discuss its purpose and reasons for its increasing importance.
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An Institute For Civil Services

(Unit = I (Section = A) (20 Marks)
(@~ 1) (T - A) (20 3)
Part—A (10 Marks)
H - 4 (10 )
Wu\qucstions. Answer the following questions in 15 words each. Each Question carries 2
. arks.
: AT Yyl & IX S| T UV W 39T 15-15 Vel ¥ ¥ U Uy & 2 i fyaifa £

TS w3 araw, rhe = v s C

According to Louis Dumas, tell the characteristics of caste. ) —
P =

£ a , %)
s SAAT— oflld U= LIS 79909 vt

& AT T 1d B
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d
P ' : A
Yoy E me SO 2‘1, qs.'hﬁlu\—r ] 2§ SIS
~ ) g e

-

-

2 £
9 TETE §gd em{ <] _ont =

2.  rfEEn ST ¥ oyt faae & gen adea-

Tell the types of marriage prevalent in the Garasia tribe,
B3l &
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3 ‘wed wgE' @ ¥ "‘r e Fw
Explain the Um((ptni Reference G mup @ )‘%ﬂ@ I

3
%@\ 2;1715 %H_Cfﬂ dl‘@ﬁl

@fﬂﬂn 1B ig_gh\ "nmaj(j 3 f~(d c?wblwazga
S e— S &
5{ S W) S Ui %A") .er) csTs 1 q

‘MM m\u K E\gh’\bT = mm[@

%‘] Tb” h’i‘* ﬁ}:\&%ea il —J&E N 6,
S 3\ =L AR

: = ‘\\r.ll\' above this line only) 5 m_q a‘l’ él :
4. MR a1 FAEE HEl F G WTas W w SeerfEa #e

Mention the main cultural probl;us of primitive or tribal groups. @
A5 ‘“") ”'°é'<9 ANT nt \(-\ % (\\u-v)

FAQ d9 ‘jﬂ\\f\ ﬁwj -@ ot(J N\Y 9)

@ K] AR5 & s
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(Write above this line only)

g;i

5. WWQWWWWWWWWW@H@WW

Name any four laws/acts made by Rajasthan Government to conirol corr uptm@
a0y
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O’LFJ amr - = (10 37)
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Part— B (10 Marks)

Note : Attempt all questions. Answer the following questions in 30 words each. Each Question carries 5 marks.
. |t goAr & 397 71 F uuEr & 39T 50 Ul ° 7 U UvH & 5 3% fRuifia )

Write nhmt note on “Tribal Panchsheel’.
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\/ ‘Society is a web of social relations.” Social problems pose a threat to the order, stability and balance

of an ideal society. Consider the approaches that can be adopted to solve social problems.
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(Unit— 1) (Section — B) (20 Marks)

(IfF= - 1) (T - B) (20 3m)
Part-A - (10 Marks)
g - H (10 =)

Note @ Anempt all questions. Answer the following questions in 15 words each. Fach Question carries 2 marks.
T ;. | YAl & 3T 2 TN U w9 15 vl ° 2 URw uve # 2 o fautfa
. =ferme Sfawa 7 smawfas Ifewar ¥ gee gayy s - -

= = s e ——, & -
Give an example of the basic difference between personal ethics and business ethicd:
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According to GM Parker, what are the four types of roles played by team members? : )
; s S
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(Write above this line only)

3. ford & & grn fawifew v-dfwT favta wofat w1 amE w THeta w2 f"D

Name the categories of Non-Banking Financial Companies divided by the Reserve Bank 2
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4, Tomw T ‘arefuof mvamad’ § g wEnm wEEd B
remm————————
aj What do you understand by ‘meaningful barriers” in communication?

= j’\\ arﬁw"p? Tyci\ &7

5. faeT yaus & B0 Aargd- :
Explain the steps of hospitality management.
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Part-B (10 Marks)
T - = (10 27F)
Note : Attempt all questions. Answer the following questions in 50 words each. Fach Question carries 3 marks.
itﬂ'f [T gvAl & IEY 31 M uvAEr = 39 50 il ¥ R URE wR ® 5 aiw fauthe
1. T w yagsa fog fagrs wwemea- Era_
r\pl ain the manageri: 1| ar |d theory of leadership. {</ H a i
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2. Www%fﬁawnﬁ#m&

What is the importance of marketmg for business? Tell. %
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(Unit =111 (Section - C) (20 Marks)
(@fe - 1) (FFE - C) (20 3)
Part—A (10 Marks)
g - A (BTF)

Note : Attempt all questions. Answer the following questions in 15 words each. FEach Question carries 2 marks.
Gz . |t wyAEr & I 2| T wuAt @ I 15 Vel ° 21 Ueds UYA & 2 e Fuifa g
8 Af Wi THeH' @ [EEI0 T Fiie- 5

H Define ‘Non-Current Assets’ with example:
Ap—————————

o o) 0 S
&'ty &9

Y q/ﬂn T < o vy

(W rite above this line only)

G1°S

Write the names of the components included in the Debt Funds.
R '
=

ST 4 o

e i = | O HYTR 2T
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J
(Write above this line only)

3. ‘P i T fewh ot @

ite a note on ‘Absolute Data Chart’.
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4. T TRAAE ¥ 3= - ,
E \pi ain the difference between budget and forecast. %ﬂ?
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5. W@Tﬁ@mmmamwmﬁaﬁ%wwwm

According to the National Association of Accountants, write the name of the areas of ‘Corporate

Social Livelihood’.
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Part- B {10 Marks)

g - J (10 3%F)
Note : Attempt all questions. Answer the following questions in 50 words each. Fach Question carries 5 marks.
qre nmmam?lﬁﬂmrﬂmqomummma 5 37 fagifa )
AUUT‘H W W Wm ? Gf‘éﬂT a7 deh GfIIQWI ! U_'T "'TlUg_J: ad4q T"'I CRE| G

SIS & GlQ | .
Insufficient working capital is destructive whereas unnecessary working capital is criminal decay. Explain
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32 . R & i above thi ¢ only)
% waﬁmm%wﬁangﬁmﬁaﬂmvmmmu
Throw hght on the modern ideology cology of mternal audit.
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